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SOEXNDOR QN =

match_test.py

#1/usr/bin/env python
-*- coding:utf-8 -*-

import re, sys

H#FHH S IERTIR OV AL

#EHZREWS

re_onsetsu = re.compile(u"[\uOF40-\uOFBC]+")

#BEF—XF

#(?L.)=BL L HORICHELSBDEYYFURITNIEYYFULET

- re_onsetsu_kiji_only = re.compile(u”(?P<kiji>[\uOF40-\uOF6C]) (?I[\uOF7 1|\uOF90-\uOFBC])",re.X)

- AR
- # §E(ra)
- re_onsetsu_atama_r = re.compile(u"(?P<atama>\uOF62) (?P<kiji>[\uOF90\uUOF92\uOF94\uOF97\uOF99\UOF9F

\UOFAT\uOFA3\uOFAB\UOFA8\UOFA9\UOFABI])", re.X)

# B (la)

re_onsetsu_atama_l = re.compile(u"(?P<atama>\uOF63) (7P<kiji>[\UOF9O\UOF92\uOF94\uOF95\uOF97\UOF9F
\UOFAT\uOFA4\uOFAB\UOFB7])",re.X)

# §E(sa)

re_onsetsu_atama_s = re.compile(u”(?P<atama>\uOF66) (?P<kiji>[\uOF9O\UOF92\uOF94\uOF99\uOF9F
\UOFAT\UOFA3\UuOFA4\uOFAB\UOFA8\UOFAQ9])"re.X)

HHHHHH A

# #12(ya)

re_onsetsu_ashi_y = re.compile(u" (?P<kiji>[\uUOF40\uOF4 T\UOF42\uOF54\uOF55\u0F56\uOF58]) (?P<ashi>
\UOFBT\uOFAD|\uOFB1)",re.X)

# #/E(ra)

re_onsetsu_ashi_r = re.compile(u"(?P<kiji>[\uOF40\uOF4 T\uOF42\uOF4F
\UOF50\uOF51\uOF54\uOF55\uOF56\uOF58\uOF64\uOF66\u0F67])(?P<ashi>\uOFB2\uOFAD|\uOFB2)" re.X)

# #1E(la)

re_onsetsu_ashi_| = re.compile(u"(?P<kiji>[\uOF40\uOF42\uOF56\uOF5F\UOF62\UOF66]) (?P<ashi>\uOFB3)",re.X)
# #E(wa)

re_onsetsu_ashi_w = re.compile(u"(?P<kiji>[\uOF40\uOF4 T\UOF42\uOF45\uOF49\uOFA4F\UOF5 T\UOF59\uOF5A
\UOF5E\uOF5F\uOF62\uOF63\uOF64\uOF66\u0F67])(?P<ashi>\UOFAD)?"re.X)

W

# BHE+RE

re_onsetsu_atama_ashi = re.compile(u"""

(?P<atama>[\uOF62\uOF66]) (?P<kiji>[\uUOFQO\uOF92\uOFA4\uOF A6\UOFA8]) (?P<ashi>[\uOFB 1\uOFB2])
""" re.X)

HHHHH RS #ETEF (ga) DT < XF
re_onsetsu_zen_g_kiji_only = re.compile(u"(?P<zen>\uOF42) (?P<kiji>[\uOF45\uOF49\uOF4F
\UOF5 T\uOF53\uOF59\uOF5E\uOF5F\uOF6 1\uOF64\uOF66])"re.X)

HHH#F RS H RS BT (da) DfF < XF

#EDy , EH(kgbm

re_onsetsu_zen_d_ashi_y = re.compile(u"(?P<zen>\uOF5 1) (?P<kiji>[\uOF40\uOF42\uOF56\u0F58]) (?P<ashi>
\UOFBT\uOFAD|\uOFB1)",re.X)

#2Dr , Ekpb

re_onsetsu_zen_d_ashi_r = re.compile(u"(?P<zen>\uOF51) (?P<kiji>[\uOF40\uOF54\uOF56]) (?P<ashi>
\UOFB2\uOFAD|\uOFB2)",re.X)

##

#BFDH , E(k,g,ng,pbm
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47+ re_onsetsu_zen_d_kiji_only = re.compile(u"(?P<zen>\uOF51)(?
- P<kiji>[\uOF40\uOF42\uOF44\uOF54\uOF56\u0OF58])",re.X)
48:

49: HHBBHHRBES #EIB R (ba) D < XF
50- #HEER

51 re_onsetsu_zen_b_atama_ashi = re.compile(u"(?P<zen_atama>\uOF56[\uOF62\uOF66]) (?P<kiji>[\uOF9O\UOF92])(?
_ P<ashi>[\uOFB1\uOFB2])",re.X)

52:

53 #BDy , E(kg

54 re_onsetsu_zen_b_ashi_y = re.compile(u"(?P<zen>\uOF56) (?P<kiji>[\uOF40\uOF42]) (?P<ashi>\uOFB T\uOFAD|
- \UOFB1)"re.X)

55- #EDr , E(kg

56 re_onsetsu_zen_b_ashi_r = re.compile(u”(?P<zen>\uOF56) (?P<kiji>[\uOF40\uOF42]) (?P<ashi>\uOFB2\uOFAD|
- \uOFB2)"re.X)

57 #BD 1 |, E(rs

58 re_onsetsu_zen_b_ashi_| = re.compile(u”(?P<zen>\uOF56) (?P<kiji>[\uOF62\uOF66]) (?P<ashi>\uOFB3)" re.X)

59:

60: #HE®Dr , EH(kg,ngjny.tdnts,dz

61: re_onsetsu_zen_b_atama_r = re.compile(u’(?P<zen atama>\uOF56\u0F62)(?
- P<kiji>[\uOF90\uOF92\uOF94\uOF97\uOF99\uOF9F\uOFAT\uOFA3\uOFA9\UOFAB])" re.X)

6o- #EAOD | | E(t

63 re_onsetsu_zen_b_atama_| = re.compile(u”(?P<zen atama>\uOF56\u0F63)(?P<kiji>\uOF9F)" re.X)

64: #8E®Ds , EH(k,gng,nytdn,ts

65 re_onsetsu_zen_b_atama_s = re.compile(u’(?P<zen atama>\uOF56\u0F66)(?
- P<kiji>[\uOF90\uOF92\uOF94\uOF99\uOF9F\uOFAT\uOFA3\UOFA9])"re.X)

66:

67 #EFDH(kg.ctdtszhzshs

68 re_onsetsu_zen_b_kiji_only = re.compile(u”(?P<zen>\uOF56) (?P<kiji>[\uOF40\uOF42\uOF45\uOF4F
- \UOF51\uOF59\uOF5E\uOF5F\uOF64\uOF66])",re.X)

69:

70 H##H###HHHHH HHTEF (M) DT < XF

71 #EDy , E(khg

72- re_onsetsu_zen_m_ashi_y = re.compile(u"(?P<zen>\uOF58) (?P<kiji>[\uOF4 1\uOF42]) (?P<ashi>\uOFB T\uOFAD|
- \UOFB1)"re.X)

73- #EBDr , E(khg

74 re_onsetsu_zen_m_ashi_r = re.compile(u"(?P<zen>\uOF58) (?P<kiji>[\uOF4 1\uOF42]) (?P<ashi>\uOFB2\uOFAD|
- \uOFB2)"re.X)

75:

76: #EFDH(kh,g,ng,chj,ny,th,d,n,tsh,dz

77+ re_onsetsu_zen_m_kiji_only = re.compile(u"(?P<zen>\uOF58)(?
~ P<kiji>[\uOF4T\uOF42\uOF44\uOF46\uOF47\uOF49\uOF50\uOF51\uOF53\uOF5A\uOF5B])",re.X)

78:

79 H###H#H#HHHSHHS HATEF ('a) DY < XF

80: #BDy , #(kh,g,phb

81 re_onsetsu_zen_a_ashi_y = re.compile(u"(?P<zen>\uOF60)(?P<kiji>[\uOF4 T\uOF42\uOF55\uOF56]) (?P<ashi>
- \UOFBT|\uOFB1\uOFAD)",re.X)

go: #EDr , E(kh,g,dphb

83 re_onsetsu_zen_a_ashi_r = re.compile(u"(?P<zen>\uOF60) (?P<kiji>[\uOF4T\uOF42\uOF5 T\uOF55\uOF56]) (?P<ashi>
- \UOFB2\uOFAD|\uOFB2)",re.X)

84:

85 # H=ZFDH(kh,g,ch,j,th,d,ph,b,tsh,dz

86 re_onsetsu_zen_a_kiji_only = re.compile(u’(?P<zen>\uOF60)(?
~ P<kiji>[\uOF41\uOF42\uOF46\uOF47\uOF50\uOF5 1\uOF55\uOF56\uOF5A\uOF5B])" re.X)

87:

88 # FIo # FEFIREGE. FIOXFHVEFTH D,
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89 re_two_shion = re.compile(u""(?P<kiji>[\uOF40-\uOF6C]) (?
~ P<kochi>[\uOF42\uOF44\uOF51\uOF53\uOF56\uOF58\uOF60\uOF62\uOF63\uOF66]) $"re.X)
90:
91 # FIo # FEFIDTREN Tay OFE. EAFNEF —fF> TR,
9o re_three_shion_last_a = re.compile(u"(?P<zen>[\uOF42\uOF51\uOF56\uOF58\uOFE0]) (?P<kiji>[\uOF40-\uOF6C])
- \uOF60"re.X)
93:
94: # N # FEFIDOTEREN Ts \UOFBB); THRWESE., BARINEF
95 re_three_shion_last_not_s = re.compile(u'"(?P<zen>[\uOF42\uOF51\uOF56\uOF58\uOF60]) (?P<kiji>[\uOF40-
~ \UOF6C]) (?P<kochi>[\uOF42\uOF44\uOF51\uOF53\uOF56\uOF58\uOF60\uOF62\uOF63])$"re.X)
96:
97- # FIo # FEFIDTRED Ts; T, BAHN Tgngbmi THRWEE., BAFHIEF
98- re_three_shion_last_s_center_not_gngbm = re.compile(u'"(?P<zen>[\uOF42\uOF51\uOF56\uOF58\uOF60]) (7
P<kiji>[\UOF40\uOF41\uOF45\uOF46\uOF47\uOF49\uOF4A\uOF4B\uOF4C\uOF4E\uOF4F
\UOF50\uOF51\uOF53\uOF54\uOF55\u0F59\uOF5A\uOF5B\uOF5D\uOF5E\uUOF5F
\UOFB0\uOF61\uOF62\uOF63\uOF64\uOF65\u0F66\uOF67\uOF68\UOFE9\UOF6A\UOF6B\UOF6C])(?
 P<kochi>[\uOF66])$",re.X)
99:
100: # (TS # FEFIDOTREN Tsy T BAFH Tgngbmi THZGHE. BRUOXENEF
101 re_three_shion_last_m_center_gngbm = re.compile(u""(?P<kiji>[\uOF40-\uOF6C]) (?
~ P<kochi>[\uOF42\uOF44\uOF56\uOF58])\uOF66%$"re.X)
102:
103: # FIA # {ERloFIs
104. ## Tdgss & g PEF & Tdms) & m BNEF
105 re_reigai_kobetu_dgs_dms = re.compile(u""(?P<zen>\uOF51) (?P<kiji>[\uOF42\uOF58]) (?P<kochi>\uOF66)$" re.X)
106: ## Tags) & g EF
107+ re_reigai_kobetu_ags = re.compile(u"(?P<zen>\uOF60) (?P<kiji>\uOF42) (?P<kochi>\uOF66)$",re.X)
108: ## "'mngss & ng BEF
109: re_reigai_kobetu_mngs = re.compile(u""(?P<zen>\uOF58) (?P<kiji>\uOF44) (?P<kochi>\uOF66)$",re.X)
110:
111 #HH#H#RD ZIRFTT S
112 re_boin_kochiji = re.compile(u
113 (?P<boin>[\uOF72\uOF74\uOF7A\uOF7C\uOF7E])? #EH
114 (?P<kochi>[\uOF42\uOF44\uOF56\uOF58]\u0F667|[\uOF51\uOF53\uOF60\uOF62\uOF63\uOF66]?
~ [\UOF72\uOF74\uOF7A\UOF7C]?) ##ZEBE+HBEE+GI/
115: ""reX)
116:
117 #HH#ESH Y O 0 ) Y RE (ER)(BHDBE?)
118 re_skt = re.compile(u”"
119 (?P<kiji>[\uOF40-\uOF6C]) (?P<ashi>[\uOF7 1 [\uOF90-\uOFBC]+) (?P<boin>[\uOF71-\uOF83]?)
120 ((?P<kiji2>[\uOF40-\uOF6C]) (?P<ashi2>[\uOF 7 1\uOF90-\uOFBC]?) (?P<boin2>[\uOF71-\uOF83]7?))?
101: ""reX)
122:
103 ##HHEHHHHEH AR
104: #IXVTATIT UK
125: kiji_map = { u"\uOF40":.u'\uOF40' , u"\uOF41":u'\uOF41", u"\uOF42"u"\uOF42', u"\uOF44".u'\uOF44" ,
u"\UOF45"u"\uOF45' , u"\uOF46"u"\uOF46', u"\uOF47".u'\uOF47', u"\uOF49":u'\uOF49' , u"\uOF4A":u'\uOF4A",
u"\UOF4B":.u'\uOF4B' , u"\uOF4C":.u'\uOF4C' , u"\UOF4E":.u'\UOF4E' , u"™\uOF4F".u'\uOF4F' , u"\uOF50"u"\uOF50',
u"\uOF51"u"\uoOF51", u"\uOF53"u"\uOF53", u"\uOF54".u'\uOF54"' , u"\uOF55"u'\uOF55"' , u"\uOF56".u"\uOF56',
u"\uOF58"u"\uoOF58' , u"\uoF59":u"\uoOF59", u"\uOF5A"u"\uOF5A" , u"\uOF5B"u"\uOF5B" , u"\uOF5D":u'\uOF5D" ,
u"\UOF5E":u"\uOF5E" , u"\uOF5F":u'\uOF5F" , u"\uOF60":.u"\uOF60" , u"\uOF61":.u"\uOF61", u"\uOF62":u"\uoOF62",
u"\uOF63":.u"\uOF63"', u"\uoF64".u'\uOrF64' , u"\uoF65"u"\uorF65', u"\uOF66":u'\uOrF66', u"\uOF67"u'\uorFe67",
u"\uOF68".u"\uOF68"', u"\uoF69":u'\uoFe69', u"\uOF6A".u'\uOF6A', u"\uoOF6B":u"\uOF6B', u"\uOF6C":.u'\uOFecC',
u"\uOF90":u"\uOF40" , u"\uOF92":u'\uOF42' , u"\uOF94".u'\uOr44' , u"\uOF95"u"\uoOrF45' , u"\uOF97":u"\uoOrF47",
u"\UOF99":.u'\uOF49' , u"\uOF9F":.u"\UOF4F" , u"\uUOFAT":u"\UOF51", u"\uOFA3"u"\uOF53", u"\uOFA4".u"\uOF54",

i
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125: Uu"\UOFAG":u'\uOF56', u"\uOFA8"u"\uOF58", u"\uOFA9":.u'\uOF59" , u"\uOFAB":u"\uOF5B" , u"\uOFB7":u"\UOF67'

126: }

127- ashi_map = {

128: U"\uOFAD"u"\uOF40', u"\uOFB1":u'\uOF41", u"\uOFBT\uOFAD"u"\uOF42', u"\uOFB2":u'\uOF43",
u"\UOFB2\uOFAD":u'\uOF44' , u"™\uOFB3".u"\uOF45' , u"™\uoF71""" , u"\uOF90":.u"\uoOF40" , u"\uOF91":.u"\uoF41" ,
u"\uOF92".u'\uOF42' , u"\uOF94".u"\uOrF44' , u"™\uOF95"u"\uoOF45"' , u"\uOF96".u'\uOrF46' ,
u"\UOF97"u"\uOF47"' , u"\uOF99":.u'\uOF49' , u"\uOF9F":.u"\UOF4F" , u"\UOFAQ":.u'\uOF50', u"\UOFA1":u'\uOF51",
u"\UOFA3":.u'\uOF53', u"\uOFA4":.u'\uOF54' , u"\uOFA5"u'\uOF55' , u"\uOFAG"u"\uOF56' , u"\uOFA8"u"\uOF58',
u"\UOFA9":.u'\uOF59', u"\UOFAA":u'\UOF5A", u"\UOFAB":u"\uOF5B'" , u"\UOFAE":.u"\UOF5E" , u"\uOFAF":u"\uOF5F",
u"\uOFBO":u"\uOF60', u"\uOFB4":.u"\uoF64', u"\uOFB6":u"\uOF66', u"\uOFB7":.u"\uOF67', u"\uOFB8":.u'\uOFe8',

~ u"\uOFB9":.u"\uOF69', u"\uOFBA":.u"\UOFBA', u"\uOFBB":.u\uOF6B' , u"\uOFBC":u'\uOF6C'

129: '}

130: zen_map = { u"\uOF42".u"\uOF5F" , U™ \uOF51"u"\UOF6T", u"\uOF56"u"\uOF62", u"\uOF58"u\uOF63",

~ u"\uOF60":.u'\uOF64"}

131: atama_map = { u"\uOF62":u\uOF65" , u"\UOFE3"u"\uOF66" , U"\UOF66"U\UOFE7" }

132- zen_atama_map = { u"\uOF56\uOF62"u"\uOFE8" , u"\UOF56\uOF63"Uu\UOFE9" , u"\UOF56\UOF66"U\UOFBGA" }

133: boin_map = {

134: Uu"\UOF72":u"\uOF21", u"\uOF74" : u"\uoOF22" , u"™\uOF7A" : u"\uOF23", u"\uOF7C" : u"\uOF24" , u"\uOF7E" :

~ u"\uOF25"

135: 1

136: #BREBZF BREF A5

137- kochi_map = {

138: Uu"\uOF42": u'\uOF40', u"\uOF42\uOF66" : u'\uOF41", u"\uOF44" : u\uOF42', u"\uOF44\uOF66" : u"\uOF43',
u"\uOF51" : u\uOF44' , u™\uOF53" : u"\uOF45', u"\uOF53\uOF72"u'\uOF46', u'\uOF53\uOF74" u'\uOF47',
u'\UOF53\uOF7A".u'\uOF49' , u'\uOF53\uOF7C"u\uOF4A' , u"\uOF56" : u'\uOF4B', u"\uOF56\uOF66" : u'\uor4cC',
u"\uOF58" : u\uOF4D' , u"\uOF58\uOF66" : u\uOF4E' , u™\uOF60" : u"\uOF4F', u"\uOF60\uOF72" : u'\uoOrF50',
u"\uOF60\uOF74" : u\uOF51", u"\uOF60\UOF7A" : u\uOF52' , u"\uOF60\uOF7C" : u\uOF53', u"\uOF62" :
u'\uOF54" , u"\uOF62\uOF72""\uOF55" , u\UOF62\UOF74":"\UOF57" , u\UOF62\uOF7A""\uOF58' ,
u'\uOF62\uOF7C""\uUOF59" , u™\uOF63" : u'\uOF5A", u"\uOF63\uOF72":u"\uOF5B", u"\uOF63\uOF74":.u"\uOF5C",
u"\uOF63\uOF7A":.u"\uOF5D" , u"\uOF63\uOF7C"u'\uOF5E" , u"\uOF66" : u\uOF5F'" , u"\uOF66\uOF72""\uUOF60",

~ U'\UOFB6\uOF74""\uOF61", u'\uOFE66\uOF7A""\UOF62", u"\UOFE66\UOF7C""\UOF63", u"\uOF7A" : u\uOF64" }

139:

140 #H#HHEHHHEHHHEHR AR

141 #ESHULDOHDEHK

142 def kiji_pt(kiji,kiji_m):

143: k_sk ="

144: m = kiji_m.match(kiji)

145: if m:

146: tango = m.groupdict()

147: map = tango['kiji]

148: k_sk = kiji_map[map]

149: if tango.has_key('zen atama'’) and tango['zen atama'l:
150: map = tango[zen_atama']

151: k_sk += zen_atama_map[map]

152: if tango.has_key('atama’) and tango['atama'l:
153: map = tango['atama']

154: k_sk += atama_map[map]

155: if tango.has_key('zen') and tango['zen']:

156: map = tango['zen']

157: k_sk += zen_map[map]

158: if tango.has_key('ashi') and tango['ashi:
159: map = tango['ashi']

160: k_sk += ashi_map[map]

161: return k_sk

162:
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163:
164:
165:
166:
167:
168:
169:
170:
171:

172:
173:
174:
175:
176:
177:
178:
179:
180:
181:
182:
183:
184:
185:
186:
187:
188:
189:
190:
191:
192:
193:
194:
195:
196:
197:
198:
199:
200:
201:
202:
203:
204:
205:
206:
207:
208:
209:
210:
211:
212:
213:
214:
215:
216:
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def boin_kochiji(nokori):

sk ="
sk2 ="
m = re_boin_kochiji.match(nokori) #nokori DHFH%IEHRKI Tmatcha %
if not m.group(boin’): #BREIRITNIE
sk = u'\uoOF20'
else:
sk = boin_map[m.group('boin’)] #re_boin_kochiji IcHITUXF5) X D 1&EE

%. boin_map Ic AN, X
if m.group(‘kochi'):
sk2 = kochi_map[m.group('kochi')] #2#&E % kochi [C A, ESHEZ
return sk + sk2

def kiji_pt_reigai(rkiji, rkiji_m):
rk_sk ="
m = rkiji_m.match(rkiji)
if m:
tango = m.groupdict()
map = tango['kiji']
rk_sk = kiji_map[map]
if tango.has_key('zen'):
map = tango['zen']
rk_sk += zen_map[map]
if not tango.has_key('boin’):
rk_sk += u\uoOrF20'
if tango.has_key('kochi'):
map = tango['kochi']
rk_sk += kochi_map[map]
return rk_sk

A
#IEFKRIZD Tmatch,

#EDEHFICHTU e EEL

def one_onsetsu(m):

one_onsetsu = m.group() #H I TUREXFHID Y X M EZHITRA
# KB # FEFN DO/ IHE. AINEF Pk

mx = re_two_shion.match(one_onsetsu)

if mx:

rkiji_m = re_two_shion
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)

return swl
HHAHH RS R Bib+BE+E+ZE
mx = re_onsetsu_zen_b_atama_ashi.match(one_onsetsu) #Z DIEFRKRTICmatch Lz 5(1F.

if mx:
kiji_m = re_onsetsu_zen_b_atama_ashi
kiji = one_onsetsu[mx.start():]
swil = kiji_pt(kiji,kiji_m)
nokori = one_onsetsu[mx.end():] #match L7cH DD 3% nokori ICANLS
sw2 = boin_kochiji(nokori) #boin_kochijidBE#EET L. sw2lcANd
return swl + sw2
A
HitHHEH &R DB HHH
mx = re_reigai_kobetu_dgs_dms.match(one_onsetsu)
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217:
218:
219:
220:
221:
222:
223:
224:
225:
226:
227:
228:
229:
230:
231:
232:
233:
234:
235:
236:
237:
238:
239:
240:
241:
242:
243:
244:
245:
246:
247:
248:
249:
250:
251:
252:
253:
254:
255:
256:
257:
258:
259:
260:
261:
262:
263:
264:
265:
266:
267:
268:
269:
270:
271:

match_test.

if mx:

Py

rkiji_m = re_reigai_kobetu_dgs_dms
rkiji = one_onsetsu[mx.start():]

swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl

mx = re_reigai_kobetu_ags.match(one_onsetsu)

if mx:

rkiji_m = re_reigai_kobetu_ags
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl

mx = re_reigai_kobetu_mngs.match(one_onsetsu)

if mx:

rkiji_m = re_reigai_kobetu_mngs
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl

A

# KON ## FEF 3 DTRED Tsy TRVLWER. BEAFRNET XfIs5
mx = re_three_shion_last_not_s.match(one_onsetsu)
if mx:
rkiji_m = re_three_shion_last_not_s
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl
# KBV H#HH#HH FEF 3 DTREN Ts) T BEAFD Tgngbmi THRWEE,
mx = re_three_shion_last_s_center_not_gngbm.match(one_onsetsu)
if mx:
rkiji_m = re_three_shion_last_s_center_not_gngbm
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl
# KOUNH##HHH## FETF 3 DTHRED sy T, BEAFHD Tgngbmi THZEE.
mx = re_three_shion_last_m_center_gngbm.match(one_onsetsu)
if mx:
rkiji_m = re_three_shion_last_m_center_gngbm
rkiji = one_onsetsu[mx.start():]
swl = kiji_pt_reigai(rkiji, rkiji_m)
return swl
HHAH S Bib +3E+&

mx = re_onsetsu_zen_b_atama_s.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_zen_b_atama_s
kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)

return swl + sw2

mx = re_onsetsu_zen_b_atama_l.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_zen_b_atama_|
kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)
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272: return swl + sw2

273: mx = re_onsetsu_zen_b_atama_r.match(one_onsetsu)
274: if mx:

275: kiji_m = re_onsetsu_zen_b_atama_r

276 kiji = one_onsetsu[mx.start():]

277: swl = kiji_pt(kiji,kiji_m)

278: nokori = one_onsetsu[mx.end():]

279: sw2 = boin_kochiji(nokori)

280: return swl + sw2

081 HHHHHHHHHH#H gla+E+ 2
282: mx = re_onsetsu_zen_a_ashi_r.match(one_onsetsu)
283: if mx:

284: kiji_m = re_onsetsu_zen_a_ashi_r

285 kiji = one_onsetsu[mx.start():]

286 swl = kiji_pt(kiji,kiji_m)

287: nokori = one_onsetsu[mx.end():]

288: sw2 = boin_kochiji(nokori)

289: return swl + sw2

290: mx = re_onsetsu_zen_a_ashi_y.match(one_onsetsu)
291 if mx:

292: kiji_m = re_onsetsu_zen_a_ashi_y

293: kiji = one_onsetsu[mx.start():]

294: swl = kiji_pt(kiji,kiji_m)

295:- nokori = one_onsetsu[mx.end():]

296: sw2 = boin_kochiji(nokori)

297- return swl + sw2

098 HHHHHIHHHHH Bim+E+ 2

299: mx = re_onsetsu_zen_m_ashi_r.match(one_onsetsu)
300: if mx:

301: kiji_m = re_onsetsu_zen_m_ashi_r

302: kiji = one_onsetsu[mx.start():]

303: swl = kiji_pt(kiji,kiji_m)

304: nokori = one_onsetsu[mx.end():]

305: sw2 = boin_kochiji(nokori)

306: return swl + sw2

307: mx = re_onsetsu_zen_m_ashi_y.match(one_onsetsu)
308: if mx:

309: kiji_m = re_onsetsu_zen_m_ashi_y

310: kiji = one_onsetsu[mx.start():]

311: swl = kiji_pt(kiji,kiji_m)

312: nokori = one_onsetsu[mx.end():]

313: sw2 = boin_kochiji(nokori)

314: return swl + sw2

315 HHHHHHHHHY HIEFb BoD~

316: mx = re_onsetsu_zen_b_ashi_l.match(one_onsetsu)
317: if mx:

318: kiji_m = re_onsetsu_zen_b_ashi_|

319: kiji = one_onsetsu[mx.start():]

320: swl = kiji_pt(kiji,kiji_m)

321: nokori = one_onsetsu[mx.end():]

300: sw2 = boin_kochiji(nokori)

323: return swl + sw2

324: mx = re_onsetsu_zen_b_ashi_r.match(one_onsetsu)
325: if mx:

326: kiji_m = re_onsetsu_zen_b_ashi_r
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327: kiji = one_onsetsu[mx.start():]

328: swl = kiji_pt(kiji,kiji_m)

329: nokori = one_onsetsu[mx.end():]

330: sw2 = boin_kochiji(nokori)

331: return swl + sw2

332: mx = re_onsetsu_zen_b_ashi_y.match(one_onsetsu)
333: if mx:

334: kiji_m = re_onsetsu_zen_b_ashi_y

335 kiji = one_onsetsu[mx.start():]

336: swl = kiji_pt(kiji,kiji_m)

337: nokori = one_onsetsu[mx.end():]

338: sw2 = boin_kochiji(nokori)

339: return swl + sw2

340 HHHHHHHHE AIEFd &
341: mx = re_onsetsu_zen_d_ashi_r.match(one_onsetsu)
342: if mx:

343: kiji_m = re_onsetsu_zen_d_ashi_r

344: kiji = one_onsetsu[mx.start():]

345 swl = kiji_pt(kiji,kiji_m)

346 nokori = one_onsetsu[mx.end():]

347: sw2 = boin_kochiji(nokori)

348: return swl + sw2

349: mx = re_onsetsu_zen_d_ashi_y.match(one_onsetsu)
350: if mx:

351: kiji_m = re_onsetsu_zen_d_ashi_y

352: kiji = one_onsetsu[mx.start():]

353: swl = kiji_pt(kiji,kiji_m)

354: nokori = one_onsetsu[mx.end():]

355: sw2 = boin_kochiji(nokori)

356: return swl + sw2

357 HHHHHHHY BHE+RE

358: mx = re_onsetsu_atama_ashi.match(one_onsetsu)
359: if mx:

360: kiji_m = re_onsetsu_atama_ashi

361: kiji = one_onsetsu[mx.start():]

362: swl = kiji_pt(kiji,kiji_m)

363: nokori = one_onsetsu[mx.end():]

364: sw2 = boin_kochiji(nokori)

365: return swl + sw2

366:

367 HHHHHHHHE AiEFa EFODH
368: mx = re_onsetsu_zen_a_kiji_only.match(one_onsetsu)
369: if mx:

370: kiji_m = re_onsetsu_zen_a_kiji_only

371: kiji = one_onsetsu[mx.start():]

372: swl = kiji_pt(kiji,kiji_m)

373: nokori = one_onsetsu[mx.end():]

374: sw2 = boin_kochiji(nokori)

375: return swl + sw2

376 HHHHHHHY AIEFm EFOH
377: mx = re_onsetsu_zen_m_kiji_only.match(one_onsetsu)
378: if mx:

379: kiji_m = re_onsetsu_zen_m_kiji_only

380: kiji = one_onsetsu[mx.start():]

381: swl = kiji_pt(kiji,kiji_m)
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429:
430:
431:
432:
433:
434:
435:
436:
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nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)
return swl + sw2

HHSH RS BIEFb EF0DH
mx = re_onsetsu_zen_b_kiji_only.match(one_onsetsu)
if mx:

kiji_m = re_onsetsu_zen_b_kiji_only
kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)

return swl + sw2

HHSH RS BIE®Rd EFDH
mx = re_onsetsu_zen_d_kiji_only.match(one_onsetsu)
if mx:

kiji_m = re_onsetsu_zen_d_kiji_only
kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)

return swl + sw2

HHSH RS AIEFg EFDH
mx = re_onsetsu_zen_g_kiji_only.match(one_onsetsu)
if mx:

kiji_m = re_onsetsu_zen_g_kiji_only
kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)

return swl + sw2

B HHHHHH E+E
mx = re_onsetsu_atama_s.match(one_onsetsu)
if mx:

kiji_m = re_onsetsu_atama_s
kiji = one_onsetsu[mx.start():]
swl = kiji_pt(kiji,kiji_m)
nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)
return swl + sw2
mx = re_onsetsu_atama_l.match(one_onsetsu)
if mx:
kiji_m = re_onsetsu_atama_|l
kiji = one_onsetsu[mx.start():]
swl = kiji_pt(kiji,kiji_m)
nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)
return swl + sw2
mx = re_onsetsu_atama_r.match(one_onsetsu)
if mx:
kiji_m = re_onsetsu_atama_r
kiji = one_onsetsu[mx.start():]
swl = kiji_pt(kiji,kiji_m)
nokori = one_onsetsu[mx.end():]
sw2 = boin_kochiji(nokori)
return swl + sw2
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437 HEHHHHHHHHH
438:
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488:
489:
490:
491:

match_test.py

ZE+E

mx = re_onsetsu_ashi_l.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_ashi_|
kiji = one_onsetsu[mx.start()
swl = kiji_pt(kiji,kiji_m)

]

nokori = one_onsetsu[mx.end():]

sw2 = boin_kochiji(nokori)
return swl + sw2

mx = re_onsetsu_ashi_r.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_ashi_r
kiji = one_onsetsu[mx.start()
swl = kiji_pt(kiji,kiji_m)

]

nokori = one_onsetsu[mx.end():]

sw2 = boin_kochiji(nokori)
return swl + sw2

mx = re_onsetsu_ashi_y.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_ashi_y
kiji = one_onsetsu[mx.start()
swl = kiji_pt(kiji,kiji_m)

]

nokori = one_onsetsu[mx.end():]

sw2 = boin_kochiji(nokori)
return swl + sw2

mx = re_onsetsu_ashi_w.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_ashi_w
kiji = one_onsetsu[mx.start()
swl = kiji_pt(kiji,kiji_m)

]

nokori = one_onsetsu[mx.end():]

sw2 = boin_kochiji(nokori)
return swl + sw2

HHHHHHH
mx = re_onsetsu_kiji_only.match(one_onsetsu)

if mx:

kiji_m = re_onsetsu_kiji_only

¥

kiji = one_onsetsu[mx.start():]

swl = kiji_pt(kiji,kiji_m)

nokori = one_onsetsu[mx.end():]

sw2 = boin_kochiji(nokori)
return swl + sw2

HHHHHHH
mx = re_skt.match(one_onsetsu)

if mx:

skt ="
tango = mx.groupdict()
map = tango['kiji']
skt = kiji_map[map]
map = tango['ashi’]
for ch in map:
skt += ashi_map|ch]
if tango['boin':
map = tango['boin’]

$YRIU Y M
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skt += boin_map[map]
else:

skt += u\uOF20'
if tango['kiji21:

map = tango['kiji2']

skt += kiji_map[map]
if tango['ashi21:

map = tango['ashi?']

for ch in map:

skt += ashi_map|ch]

if tango['boin2']:

map = tango['boin2]

skt += boin_map[map]
return skt

R
#part3 TZ7AI - FTDFHRMHAH

#sublc ¥ v F L eXF5) %= B4 "Tone_onsetsuy ICANLS
# MorZH inA7Y ok
# ETSh20E - - -
# S>ATIT U MDEERE—DITODEHICKRALLBLSEDERLETS
if len(sys.argv) ==
fin = sys.stdin
else:
fin = open(sys.argv([1], "rU")
debag = False
i=0
for line in fin:
line = unicode(line, "utf-8") #5tAA A TE1T% Unicodelc Z i
line2 = re_onsetsu.sub(one_onsetsu, line)
if debag:
print line2.encode('utf-8') + "," + line.encode("utf-8")
else:
print line2.encode('utf-8'),
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